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B.Com. Part—I (Semester-II) Examination
BUSINESS ECONOMICS

(Commerce)
Time : Three Hours] [Maximum Marks : 80

Note :— (1) ALL questions are compulsory.
(2) Draw the diagram wherever necessary.
(3) Write only single option for MCQ questions. If examinee has to correct the

answer, cancel first option and write another option ahead of it.
SECTION—A

1. Write the answer of following questions by choosing the correct options given
below :— 1×20=20
(i) Business Economics is mainly concerned with _______.

(a) Development Economics (b) Agricultural Economics
(c) Micro Economics (d) Labour Economics

(ii) Managerial Economics involves ______.
(a) Cost analysis (b) Profit analysis
(c) (a) and (b) (d) None of these

(iii) The objectives of managerial economics ______.
(a) Problem solving of business (b) Quick and appropriate decisions
(c) Improve on efficiency (d) All of above

(iv) The relation of Business Economics with Managerial Economics are :
(a) Positive (b) Negative
(c) No relation (d) None of above

(v) A market near the place of production is called ______.
(a) National market (b) Local market
(c) Import-Export market (d) Daily market

(vi) The market involves the elements :
(a) Buyers and sellers (b) Goods and services
(c) Contact between buyers and sellers (d) All of these

(vii) In monopoly market, how many sellers are there ?
(a) One (b) Two
(c) Few (d) Infinite

(viii) ‘‘The Economic problem can be solved through price mechanism.’’ This statements is
______.
(a) True (b) False
(c) (a) and (b) (d) None of these

(ix) Number of sellers in oligopoly are :
(a) Two (b) Infinite
(c) Few (d) Large Number
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(x) The concept of monopolistic competition is introduced at first by :

(a) Prof. Chamberlain (b) Prof. Marshall

(c) Prof. Robbins (d) Prof. Hicks

(xi) In which type of market price leadership is seen ?

(a) Monopoly (b) Oligopoly

(c) Perfect competition (d) None of these

(xii) _______ is not a characteristic of perfect competition.

(a) Homogeneous Product (b) Free entry and free exit of Firm

(c) Perfect Knowledge of Market (d) Price Leadership

(xiii) Demand for factors input is ______.

(a) Perfect Demand (b) Derived Demand

(c) Elastic Demand (d) All of above

(xiv) According to marginal productivity theory, the Price of any factor of production

equals to ______.
(a) Its Marginal cost (b) Its Marginal productivity

(c) Its Marginal revenue (d) None of these

(xv) ‘‘A sum of money paid under contract by an employer to a worker for service rendered.’’

This statement is related to :
(a) Wages (b) Profit

(c) Rent (d) None of above

(xvi) No Rent Land is also known as ______.

(a) Rented Land (b) Marginal  Land

(c) Profitable Land (d) None of these

(xvii) Gross interest is included _________.
(a) Net interest (b) Reward for Risk
(c) Reward for inconvenience (d) all of these

(xviii)Liquidity preference theory of interest does not think about :
(a) Short term determination of intrest (b) Long term determination of interest
(c) (a) and (b) (d) None of these

(xix) According to Loanable funds theory of interest, the demand for Loanable funds for
______.
(a) Investment (b) Consumption

(c) Hoarding (d) All of these

(xx) According to Schumpeter profit is ______.
(a) Normal (b) Abnormal

(c) Never permanent (d) None of these

YBC—13014 2 (Contd.)
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SECTION—B

Note :— Write the answer in short of following questions :—

2. (i) (A) Explain the meaning of Business Economics. 4

OR

(B) State the objectives of Managerial Economics. 4

(ii) (A) Write classification of market on the basis of period. 4

OR

(B) What do you mean by price mechanism ? 4

(iii) (A) Explain the meaning of Monopolistic Competition. 4

OR

(B) Write the characteristics of perfect competition. 4

(iv) (A) State the assumptions of Marginal Productivity theory. 4

OR

(B) Explain the concept of ‘Quasi-Rent.’ 4

(v) (A) Write the components of Gross Profit. 4

OR

(B) State motives of demand for liquidity preference. 4

SECTION—C
3. Write the answer in detail of following questions :—

(i) (A) Write relationship between Business Economics and Business Management. 8
OR

(B) State the nature and characteristics of Managerial Economics. 8
(ii) (A) What do you mean by price discrimination ? State the conditions to success price

discrimination. 8
OR

(B) Write characteristics of monopoly. How is price determined under monopoly ?
Explain with diagram. 8

(iii) (A) Explain the price determination in Oligopoly. 8
OR

(B) Write the meaning of perfect competition. Explain price determination under perfect
competition. 8

(iv) (A) Explain the nature of demand and supply of factors of production. 8
OR

(B) Explain Ricardian Rent theory with suitable example and diagram. 8
(v) (A) Explain loanable fund theory of interest with suitable diagram. 8

OR
(B) Explain Risk-bearing theory of profit. 8
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B.Com. Part—I (Semester-II) Examination
BUSINESS ECONOMICS

(Commerce)
Time : Three Hours] [Maximum Marks : 80

¼ejkBh ekè;e½
lwpuk :— (1) loZ iz’u vko’;d vkgsr-

(2) vko’;d rsFks ;ksX; vkd‘rh dk<k-

(3) cgqi;kZ;h iz’ukps mÙkjkr ,dp i;kZ; fygk- ifj{kkFkhZl mÙkj nq#’; djko;kps vlY;kl
iwohZps mÙkj [kksMqu R;k iq<s ;ksX; i;kZ; fygk-

foHkkx—v

1. [kkyhy iz’ukph mÙkjs ;ksX; i;kZ; fuoMqu fygk %— 1×20=20

(i) O;kolkf;d vFkZ’kkL= eq[;r% gk ______ f’k laca/khr vkgs-

¼v½ fodklkps vFkZ’kkL= ¼c½ d‘"kh vFkZ’kkL=

¼d½ lq{e vFkZ’kkL= ¼M½ Jekps vFkZ’kkL=

(ii) O;kolkf;d vFkZ’kkL=kr ______ P;k lekos’k gksrks-

¼v½ ifjO;; fo’ys"k.k ¼c½ uQk fo’ys"k.k

¼d½ ¼v½ vkf.k ¼c½ ¼M½ ;kiSdh dkghgh ukgh

(iii) O;kolkf;d vFkZ’kkL=kps mís’k %

¼v½ O;kolk;kps iz’u lksMo.ks ¼c½ rkrdkG vkf.k ;ksX; fu.kZ; ?ks.ks

¼d½ dk;Z{kerk lq/kkj.kk ¼M½ ofjy loZ

(iv) O;kolk;hd vFkZ’kkL= vkf.k O;oLFkkidh; vFkZ’kkL= e/khy laca/k ______ vlrkr-

¼v½ ldkjkRed ¼c½ udkjkRed

¼d½ laca/k ulrkr ¼M½ ;kiSdh ukgh

(v) mRiknu Bhdkauka todksy cktkjkl _____ Eg.krkr-

¼v½ jk"Vªh; cktkjisB ¼c½ LFkkfud cktkjisB

¼d½ vk;kr&fu;kZr cktkj ¼M½ nSuhd cktkj

(vi) cktkj isBsr _____ ?kVdkapk lekos’k gksrks-

¼v½ Øsrs vkf.k foØsrs ¼c½ oLrq vkf.k lsok

¼d½ Øsrs vkf.k foØsrs ;krhy laca/k ¼M½ ofjy loZ

(vii) ,dkf/kdkjh cktkj isBsr fdrh foØsr vlrkr \

¼v½ ,d ¼c½ nksu

¼d½ vYi ¼M½ vusd
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(viii) ßfdear ;a=us }kjs vkfFkZd leL;k lksMfo.;k tkrkr-Þ gs fo/kku _____ vkgs-

¼v½ lR; ¼c½ vlR;

¼d½ ¼v½ vkf.k ¼c½ ¼M½ ;kiSdh ukgh

(ix) vYikf/kdkjkrhy foØsR;kaph la[;k %

¼v½ nksu ¼c½ vla[;

¼d½ vYi ¼M½ cgqla[;

(x) ,dkf/kdkjh Li/kkZ gh ladYiuk ifgY;kgk ______ ;kauh ekaMyh-

¼v½ izks- pscjfyu ¼c½ izks- ek’kZy

¼d½ izks- jkWfcUl ¼M½ izks- fgDl

(xi) dks.kR;k izdkjP;k cktkjkr fdaer usr‘Ro fglqu ;srs \

¼v½ ,dkf/kdkj ¼c½ vYikf/kdkj

¼d½ iw.kZ Li/kkZ ¼M½ ;kiSdh ukgh

(xii) _____ gs iw.kZ Li/ksZps oSf’k"Vs ukfgr-

¼v½ ,dthUlh vlrks ¼c½ is<;kaps eqDr izos’k vkf.k eqDr xeu

¼d½ cktkjisBsps iw.kZKku ¼M½ fdaer usr‘Ro

(xiii) mRiknu ?kVdkaph ekx.kh vlrs %

¼v½ ifjiw.kZ ekx.kh ¼c½ O;qRiUu ekx.kh

¼d½ yofpd ekx.kh ¼M½ ;kiSdh loZ

(xiv) flekar mRikndrk fl)karkuqlkj dks.kR;kgh mRiknu ?kVdkaph fdaer _____ P;k cjkscj vlrs-

¼v½ R;kaP;k flekar ifjO;;k cjkscj ¼c½ R;kP;k flekar mRikndrs cjkscj

¼d½ flekar mRiUuk cjkscj ¼M½ ofjy iSdh ukgh

(xv) ßdkexkjkauk R;kaP;k lsoscíy djkjkZuqlkj lsok ;kstdkus iS’kkps dsysys ’kks/kuÞ gs fo/kku _____
laca/khr vkgs-

¼v½ etwjh ¼c½ uQk

¼d½ [kaM ¼M½ ;kiSdh ukgh

(xvi) HkkVd jghr Hkqehyk ______ lq)k Eg.krkr-

¼v½ [kaMlfgr Hkqeh ¼c½ flekar Hkqeh

¼d½ ykHknk;d Hkqeh ¼M½ ;kiSdh ukgh

(xvii) ,dw.k O;ktkr ______ pk lekos’k vlrks-

¼v½ ’kq) ykHk ¼c½ tksf[kehpk ekscnyk

¼d½ vlqfo/kkpk ekscnyk ¼M½ ;kiSdh loZ

(xviii)O;ktkpk rjyrk vfHkyk"kk fl)kar _______ ;k cíy lkaxr ukgh-

¼v½ vYidkyhu O;kt fu/kkZj.k ¼c½ fn?kZdkyhu O;kt fu/kkZj.k

¼d½ ¼v½ vkf.k ¼c½ ¼M½ ;kiSdh ukgh

(xix) dtkZP;k _.k;ksX; fu/kh fl)karkuqlkj _.k;ksX; fu/khph ekx.kh ______ dfjrk gksrks-

¼v½ xqaro.kwd ¼c½ miHkksx

¼d½ laxzg.k ¼M½ ;kiSdh loZ
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(xx) ’kqEihVjP;k ers ykHk _____ vkgsrA

¼v½ lkekU; ¼c½ vlkekU;

¼d½ vfLFkj ¼M½ ;kiSdh loZ

foHkkx—c
2. [kkyhy fnysY;k iz’ukps FkksMD;kr mÙkjs fygk %µ

(i) ¼v½ O;kolkf;d vFkZ’kkL=kpk vFkZ Li"V djk- 4
fdaok

¼c½ izca/kfd; vFkZ’kkL=kph mfí"Vs lkaxk- 4
(ii) ¼v½ cktkjisBsps dkGkuqlkj ofxZdj.k fygk- 4

fdaok
¼c½ fdaereatusiklqu vki.kkl dk; vFkZcks/k gksrks- 4

(iii) ¼v½ ,dkf/kdkj;qDr Li/ksZpk vFkZ Li"V djk- 4
fdaok

¼c½ iw.kZLi/ksZps oSf’k"Vs fygk- 4
(iv) ¼v½ flekar mRikndrk fl)karkph x‘ghrs lkaxk- 4

fdaok
¼c½ vkHkk"kh [kaMkph ladYiuk Li"V djk- 4

(v) ¼v½ ,dw.k uQ;kps ?kVd fygk- 4
fdaok

¼c½ jks[krk vfHkyk"kk ekx.khps gsrw lkaxk- 4
foHkkx—d

3. [kkyhy iz’ukps lfoLrj mRrjs fygk %—
(i) ¼v½ O;kolk;hd vFkZ’kkL= vkf.k O;kolk;hd izca/ku ;krhy laca/k fygk- 8

fdaok
¼c½ izca/kdh; vFkZ’kkL=kps Lo:i o oSf’k"Vs lkaxk- 8

(ii) ¼v½ eqY;Hksnu ;k iklqu dk; vFkZcks/k gksrks \ eqY;HksnukP;k ;’kLohrslkBh vVh lkaxk- 8
fdaok

¼c½ ,dkf/kdkjkps oSf’k"Vs fygk] ,dkf/kdkjh Li/ksZr fdaer fu/kkZjd dls gksrs gs vkd‘rh }kjs Li"V
djk- 8

(iii) ¼v½ vYikf/kdkjkr fdaer fu/kkZj.k Li"V djk- 8
fdaok

¼c½ iw.kZ Li/ksZpk vFkZ fygk- iw.kZ Li/ksZe/;s fdaer fu/kkZj.k Li"V djk- 8
(iv) ¼v½ mRiknu ?kVdkP;k ekx.kh iwjoBkps Lo:i Li"V djk- 8

fdaok
¼c½ fjdkMksZpk [kaM fl)kar vkd‘rh o ;ksX; mnkgj.kklg Li"V djk- 8

(v) ¼v½ O;ktkpk _.k;ksX; fu/kh fl)karkpk ;ksX; vkd‘rhP;k }kjs Li"V djk- 8
fdaok

¼c½ uQ;kpk tks[khespk fl)kar Li"V djk- 8
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BUSINESS ECONOMICS

(Commerce)
Time : Three Hours] [Maximum Marks : 80

¼fgUnh ekè;e½
lwpuk :— (1) lHkh iz’u vfuok;Z gSaA

(2) vko’;d gksus ij js[kkfp= cukb,A
(3) cgqi;kZ;h iz’uksa ds mRrj esa dsoy ,d gh i;kZ; fyf[k,A ifj{kkFkhZ mÙkj esa nq#LFkh

djus gsrq iwoZ mÙkj dks jí djds lgh i;kZ; fyf[k,A
foHkkx—v

1. fuEufyf[kr iz’uksa ds mRrj ;ksX; i;kZ; pqudj fyf[k, %— 1×20=20
(i) O;kolkf;d vFkZ’kkL= fo’ks"kr% lacaf/kr gS %

¼v½ fodkl dk vFkZ’kkL= ¼c½ d‘f"k vFkZ’kkL=
¼d½ lw{e vFkZ’kkL= ¼M½ Je vFkZ’kkL=

(ii) izca/kdh; vFkZ’kkL= esa lekos’k gksrk gS %
¼v½ ifjO;; fo’ys"k.k ¼c½ ykHk fo’ys"k.k
¼d½ ¼v½ vkSj ¼c½ ¼M½ blesa ls dqN ugha

(iii) izca/kdh; vFkZ’kkL= ds mís’; %
¼v½ O;olk; ds iz’uksa dks gy djuk ¼c½ mfpr rFkk rqjar fu.kZ;
¼d½ dk;Z{kerk esa lq/kkj ¼M½ mijksDr lHkh

(iv) O;kolkf;d vFkZ’kkL= ,oa izca/kdh; vFkZ’kkL= esa laca/k %
¼v½ ldkjkRed ¼c½ udkjkRed
¼d½ dksbZ Hkh laca/k ugha ¼M½ mijksDr ,d Hkh ugha

(v) mRiknu dsanz ds lehi foi.kh dks dgrs gSa %
¼v½ jk"Vªh; foi.kh ¼c½ LFkkuh; foi.kh
¼d½ vk;kr&fu;kZr foi.kh ¼M½ nSuafnu foi.kh

(vi) foi.kh esa _____ ?kVdksa dk lekos’k gksrk gSA
¼v½ Øsrk ,oa foØsrk ¼c½ oLrq ,oa lsok,a
¼d½ Øsrk rFkk foØsrk ds chp laca/k ¼M½ mijksDr lHkh

(vii) ,dkf/kdkj foi.kh esa fdrus foØsrs gksrs gSa \
¼v½ ,d ¼c½ nks
¼d½ vYi ¼M½ vla[;

(viii) ^dher ;a=.kk}kjk vkfFkZd leL;k,¡ lqy>kbZ tkrh gSa* ;g fo/kku _____ gSA
¼v½ lgh ¼c½ xyr
¼d½ ¼v½ ,oa ¼c½ ¼M½ mijksDr esa ls dksbZ ugha

(ix) vYikf/kdkj esa foØsrkvksa dh la[;k %

¼v½ nks ¼c½ vla[;

¼d½ vYi ¼M½ cgqla[;
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(x) ,dkf/kdkj Li/kkZ dh ladYiuk izFker% bUgksaus izLFkkfir fd;k %

¼v½ izks- psacjfyu ¼c½ izks- ek’kZy

¼d½ izks- jkWfcUl ¼M½ izks- fgDl

(xi) fdl izdkj ds foi.kh esa dher usr‘Ro fn[kkbZ nsrk gS \

¼v½ ,dkf/kdkj ¼c½ vYikf/kdkj

¼d½ iw.kZ Li/kkZ ¼M½ mijksDr ,d Hkh ugha

(xii) _____ ;g iw.kZ Li/kkZ dh fo’ks"krk ugha gSA

¼v½ ,dftulh oLrq ¼c½ isf<;ksa dk eqDr izos’k ,oa eqDr fuxZeu

¼d½ foi.kh dk ifjiw.kZ Kku ¼M½ dher usr‘Ro

(xiii) mRiknu ?kVdksa dh ek¡x %

¼v½ ifjiw.kZ ek¡x ¼c½ O;qRiUu ek¡x

¼d½ yfpyh ek¡x ¼M½ mijksDr lHkh

(xiv) lhekar mRikndrk fl)kar ds vuqlkj fdlh Hkh mRiknu ?kVd dh dher ______ ds cjkcj jgrh

gSA

¼v½ mlds lhekar ifjO;; ¼c½ mlds lhekar mRikndrk

¼d½ mlds lhekar vk; ¼M½ mijksDr ,d Hkh ugha

(xv) ^Jfedksa dks muds lsok ds cnys esa la;kstdksa }kjk fd;k x;k Hkqxrku* ;g fo/kku ls lacafèkr

gS %

¼v½ etnwjh ¼c½ ykHk

¼d½ HkkVd ¼M½ mijksDr ,d Hkh ugha

(xvi) HkkVd jfgr Hkwfe dks dgrs gSa %

¼v½ HkkVdlfgr Hkwfe ¼c½ lhekar Hkwfe

¼d½ ykHknk;d Hkwfe ¼M½ mijksDr ,d Hkh ugha

(xvii) dqy C;kt eas lekfo"V jgrk gS %

¼v½ ’kq) ykHk ¼c½ tksf[keksa dk ekscnyk

¼d½ vlqfo/kkvksa dk ekscnyk ¼M½ mijksDr lHkh

(xviii)C;kt dk jks[krk vfHkyk"kk fl)kar bl ckjs eas ugha crkrk %

¼v½ vYidkyhu C;kt fu/kkZj.k ¼c½ nh?kZdkyhu C;kt fu/kkZj.k

¼d½ ¼v½ ,oa ¼c½ ¼M½ mijksDr ,d Hkh ugha

(xix) C;kt ds _.k;ksX; fl)kar ds vuqlkj _.k;ksX; fu/kh dh ek¡x ______ ds fy, gksrh gSA

¼v½ fuos’k ¼c½ miHkksx

¼d½ laxzg.k ¼M½ mijksDr lHkh

(xx) ’kqEihVj ds vuqlkj ykHk ;kus %

¼v½ lkekU; ¼c½ vlkekU;

¼d½ vfLFkj ¼M½ mijksDr ,d Hkh ugha
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foHkkx—c
2. fuEufyf[kr iz’uksa ds mRrj la{ksi esa fyf[k, %

(i) ¼v½ O;kolkf;d vFkZ’kkL= dk vFkZ Li"V dhft,A 4
vFkok

¼c½ izca/kdh; vFkZ’kkL= ds mís’; crykb,A 4
(ii) ¼v½ foi.kh ds dk;Zdky ds vk/kkjuqlkj oxhZdj.k dhft,A 4

vFkok
¼c½ dher ;a=.kk ls vki D;k le>rs gSa \ 4

(iii) ¼v½ ,dkf/kdkj;qDr Li/kkZ dk vFkZ Li"V dhft,A 4
vFkok

¼c½ iw.kZLi/kkZ dh fo’ks"krk,¡ fyf[k,A 4
(iv) ¼v½ lhekUr mRikndrk fl)kar dh ekU;k,a crykb,A 4

vFkok
¼c½ ßvkHkklh [kaMÞ dh ladYiuk fo’kn dhft,A 4

(v) ¼v½ ldy ykHk ds dkjd fyf[k,A 4
vFkok

¼c½ jks[krk vfHkyk"kk ek¡x ds gsrq crykb,A 4
foHkkx—d

3. fuEufyf[kr iz’uksa ds mRrj dks foLrkj ls fyf[k, %—
(i) ¼v½ O;kolkf;d vFkZ’kkL= ,oa O;kolkf;d izca/ku esa laca/k fyf[k,A 8

vFkok
¼c½ izca/kdh; vFkZ’kkL= dk Lo:i rFkk fo’ks"krk,a crykb,A 8

(ii) ¼v½ ewY;foHksnu ls vki D;k le>rs gSa \ ewY;foHksnu ds ;’kfLork ds fy, ’krs± crykb;sA

8
vFkok

¼c½ ,dkf/kdkj dh fo’ks"krk,a fyf[k,A ,dkf/kdkj esa ewY;fu/kkZj.k dSls gksrk gS \ ys[kkfp= }kjk

Li"V dhft,A 8
(iii) ¼v½ vYikf/kdkj esa ewY;fu/kkZj.k Li"V dhft;sA 8

vFkok
¼c½ iw.kZLi/kkZ dk vFkZ fyf[k;sA iw.kZLi/kkZ esa ewY;fu/kkZj.k Li"V dhft;sA 8

(iv) ¼v½ mRiknd dkjd ds ek¡x ,oa iqjoBk ds Lo:i dks Li"V dhft;sA 8
vFkok

¼c½ fjdkMksZ dk yxku dk fl)kar js[kkfp= ,oa mfpr mnkgj.k }kjk Li"V dhft,A 8
(v) ¼v½ C;kt dk _.k;ksX; fu/kh fl)kar mfpr js[kkfp= }kjk Li"V dhft;sA 8

vFkok
¼c½ ykHk dk tksf[ke dk fl)kar Li"V dhft,A 8


